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Name of the Paper : 241102 — Financial Accounting (Part A)

241103 — Financial Accounting (Part B)

Name of the Course : B.Com. (H)

Semester o | :

Duration : 3 hours (Part A : 2 hours and 30 minutes, Part B : 30
minutes)

Maximum Marks : 75 Marks (Part A : 55 marks, Part B : 20 marks)

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.

2. This question paper has 2 parts. Part A is compulsory for all examinees. Part
B is meant only for those who have not offered Computerized Accounts.

3. Part A and Part B are to be answered on separate Answer Books.
4. Attempt ‘ALL’ questions. Show your working notes clearly.

5. Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper.

el & fow Bdw

1 - @ PR & SR Ry g FruiRa e W s R |

0. T WTT-UF D @ NN F | WNT A 99 & fog e @ @ 9w B S adent & fore
£ el wegelea i o fases w8 fomar 21

3. ¥NT A 991 9IRT B &I 9o IR GRAIst § @ |

4. Gft v AfEd €1 AT TUFN TN ® ¥ S |

5 =@ WIT-UF 1 IR N A1 B Rt g Wi A Afvrg, Afte -l IRl o Wess U
& B ARY |

PTO.

k24



537 2

PART-A

4

1. (a) Gaurav purchased a machine on 1 April, 2013 for Rs. 50,000. Depreciatic
@ 20% was charged on machine for . two years. Fro
I** April, 2015, the rate of depreciation was rpd}iced to 10%. N
mention of this change was made in the financial statements ¢

notes thereto. Explain the accounting principle which has bee

violated.

(b) Recognising that the values of land have been increasing in the recent year
Vikrant, owner of Ekta Ltd. increased the balance sheet amount of land fro1

Rs. 50,00,000 to Rs. 70,00,000. Explain the accounting principle which ha

been violated. (7

() 1 30, 2013 F TWRT ¥ T50,000 N e FA @A | & 9§ TR AT W 209
T - B IR TR | 1 31, 2015 & Hod - T R Rl "l T 10% Y far @
T IRaa ol st faaon & serar feroaformy F w8 s /= | 3@ S A ok
e =1 Sewe g9 2, W |

(W) =& 9 g o fam a9 fff & el & 9fe g2 2, vahan foifids & e fsw
T @ AT SO g 99 | $50,00,000 ¥ S@T Y 370,00,000 Y X | AT
HiT A R @ Sewo g 2, wEnEd |

From the following trial balance of Ajit, you are required to prepare Trading and

Profit and Loss Account for the year ended 31st December 2014 and a Balance
Sheet on that :
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1.

2
PART-A
TARI—A

(a) Gaurav purchased a machine on 1* April, 2013 for Rs. 50,000. Depreciation
@ 20% was charged on machine for . two years. From
1" April, 2015, the rate of depreciation was rpd}iced to 10%. No
mention of this change was made in the financial statements or
notes thereto. Explain the accounting principle which has been

violated.

(b) Recognising that the values of land have been increasing in the recent years,
Vikrant, owner of Ekta Ltd. increased the balance sheet amount of land from
Rs. 50,00,000 to Rs. 70,00,000. Explain the accounting principle which has
been violated. (7 |

(%) 1 5, 2013 H WA ¥ 50,000 W Y FHT @A | X T T AT | 20%
T - BTE AT I 1 1 A, 2015 ¥ e - TR R R HST TR 10% F 3491 W |
T4 IR i i ol J srmn fewfrt § & wawn o | @ S QA aaiwT
g 1 Seotae gan 2, WA |

(@) @& e g o v oot & off & 99l A gf &5 2, v PR & Wil R
A I S ST SO ge 99 9§ €50,00,000 ¥ &1 FR 370,00,000 T & | SIS
T ¥ a1 Seetae gan 2, wwEmEd |

From the following trial balance of Ajit, you are required to prepare Trading and
Profit and Loss Account for the year ended 31st December 2014 and a Balance
Sheet on that :
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Particulars Dr.(Rs.)  [Cr.(Rs.)
Capital - 1 50,000
Drawings . | 6,000 -
Sundry Creditors - ] 20,000 |
10% Loan (taken on 1-7-2014) - 10,000
Cash in Hand 2,500 | - .-
Cash in Bank 580 | -
ISundry Debtors 25,500 -
Provision for Doubtful Debts - 2,000
Furniture 6,000 |- -
Machinery 14,200 -
Stock(1-1-2014) 40,000 -
Purchases 90,000 -
= { Rent and Taxes 3,400 -
o Salaries 9,000 | -
Manufacturing Wages : 12,500 -
Sales - 1,40,400
Sundry Expenses 1,000 | -
Insurance( including a premium of Rs.300
per annum paid upto 30-6-2015) 400 -
Commission - 700
Carriage Inward 2,000 -
| Travelling expenses 800 -
Bills Receivable 4,000 -
2,23,100 |{2,23,100
Adjustments :

(1) Stock on 31-12-2014 was Rs. 38000.

(i) Write off Rs. 500 bad debts and maintain the provision for doubtful debts
at 5% on debtors.

(iii) Manufacturing wages include Rs. 800 for erection of new machinery on 1

January, 2014.
(iv) Depreciate machinery by 5% and furniture by 10%. (12)

OR

PT.O.
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From the following particulars relating to Noya Charitable Hospital prepare Income

and Expenditure Account for the Year ended 31% December 2014 and Balance
Sheet as at that date :

Receipts and Payments Account
For the Year ending 31° Dec., 2014

Receipts Rs. Payments Rs.
To Balance b/d 7130 By Doctor’s Honorarium 9000
To Subscriptions 47996 | By Suppliers of medicines 30590
To Donations 4500 By Petty Expenses 461
To Legacies 10000 | By Salaries 27500
To Interest on Investments By Equipment Purchased 15000
@10% for full year 7000 By Expense on Charity Show | 2750
To Proceeds from charity | 10450 | By Balance c/d 1775
Show

87076 |- 87076

Additional Information :

1-1-2014 31-12-2014

Rs. Rs.
(1) Subscription Due 650 - 800
(i) Subscription received in advance 254 300
(iii)) Stock of Medicines 8910 9800 .
(iv) Suppliers of Medicines 4000 2500
(v) Outstanding Salaries | 3600 4800
(vi) Equipments 21200 31600
(vii) Building cost less depreciation 90000 81000

31 ReR, 2014 = T ad @ U sid g7 RT v wemr diferet ¥ MR T2 1N
T @ daR R 39 A @ e o= o T e |



=R ) @ (%) | W (R)
qait - 50,000
m 6,000
fafte= arer ' - 20,000
10% 91 (1-7-2014 wh forar) - 10,000
UG & 2,500 -
S Ahs 5,800 -
fafteT 3 er 25,500 | -
iy 3R & o waenrr - 2,000
FHARR 6,000 -
. EiECE) 14,200 -
& Ny
wish (1-1-2014) ; 40,000 | =
W 90,000 -
o @en 2 3,400 -
EE) : 9,000 -
I qogd 12,500 =
fora - 1,40,000
o= == 1,000 =
o (RrEd 30.6.2015 o o 3300 @i Mfvaw wmfa @) 400 -
EikG : - 700
TR R IR 2,000 -
I = 800 -
& e fafra foa 4,000 -
’ 2,23,J00 | 2,23,100

T :
(i) 31-12-2014 =t wiw 38,000 T |
(i) 9@ ISR T500 §Y T A/ IR & TR 5% 1 WL HIWT |

(ifi) e o ¥, S T B T @ fre @ R I Te00 o Wi § 1 7S
HIHT 1 WEEQ, 2014 FHI TS TR |

(iv) A W 5% TAN R W 10% & R A o0 -8 A |

EBT.O.
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A e s s ¥ TRl @i Ry e ¥ 31 Rwer, 2014 @ T af @ g |

6

?;T 2dr

I A T @ IR IA T g 3 Jar R |

31 fewsR, 2014 =t T ¥ & g Wit T e <@

USSR 3 WA 3
R wm T A 7,130 IR WA 9,000
HAEH 47,996 Targal @ MRy 30,590
T 4,500 HeA T 461
fawaa § W 10,000 A 27,500
T W 10% AN w IR i @l 15,000
AR w A 7,000 R W ® A 2,750
IRA M A W= 10,450 A, W A A = 1,775
87,076 87,076
\;lﬁfﬁaﬁ SH&ER
1-1-2014 31-12-2014
. g 3
(i) W= e 650 800
(i) R e stz 254 300
(iii) <= W 8,910 9,800
(iv) warsar = smafd 4,000 2,500
(v) <@ 3= 3,600 4,800
(vi) 3R 21,200 31,600
(vi) M-8 & WG WA AN 90,000 81,000
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Garima Co. carried on a business without maintaining a proper set of books of
account. An analysis of its cash book revealed the following figures for the year
ended 31st March, 2015.

Analysis of cash book:

Particulars Rs. Particulars Rs.

Paid for credit purchases 1,34,000 | Other payments are:
Received for credit sales 1,55,500 | Salaries 20,000
Received for cash sales | 21,050 | Rent paid up to Feb.2015 - |
Further capital introduced | 10,000 for 12 months ‘ 6,000
Purchase of furniture (on 1% Jan 2015) 2,000 Sundry Expenses 2,500,
Purchase of investment Electric charges 3,000
(on 1 Jan 2015) 10,000, Drawings 8,000
' Motor Upkeep 2,375

The Following further information is given to you :

Particulars ; 31-3-2014 31-3-2015
Cash in hand and at bank 2,905 ?
Stock in Trade , 22,500 31,255
Sundry Debtors 15,800 17,900
Sundry Creditors 10,550 13,755
Furniture (depreciation @ 5%) 10,000 ?
Motor Car (depreciation @ 15%) 15,000 ?

Bad debts during the year amounted to Rs. 400. Discount allowed was Rs. 250
and discount received was Rs. 125. Provision should be created on sundry debtors
at 5% on 31st March, 2015. Salaries were outstanding to the extent of Rs. 2,550,
while advance of salary amounts to Rs. 1,500. The rate of interest on investment
is 6%.

Prepare Trading and Profit and Loss Account of Garima Co. for the year ended
31st March, 2015 and the Balance Sheet as on the date. (12)

OR

Nyonika & Co. has a hire purchase department. Goods are sold on hire purchase
at cost plus 33'/3%. From the following particulars prepare Shop Stock A/c, H.P.
Debtors A/c, H.P. Stock A/c and H.P. Adjustment A/c :

PTO.
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8
1-4-2014 Rs.
Stock out with H.P. customers at S.P. 4,000
Stock at Shop at cost ' . 500
Instalments due ) 300
1-4-2014 to 31-3-2015
Cash received from customers g 8,000
Goods repossessed (instalments due Rs.2,000) valued at 500

(this has been included at the end at Rs. 500)

31-3-2015
Instalments due (customers paying) 500
Stock at shop at cost (including goods repossessed) 1,200
Stock out with H.P. customers at S.P. 4,600
Verify your results by preparing Hire Purchase Trading A/c. (12)

TRA FEE, @ A W T ¢ ST § aEE R @ R | JEE AdE T8 A
fRwer R R, 31 94, 2015 @ TG 9§ B forg, T W@ W g2

faazor ¥ | faewor 3

JUR @ie & g s 1,34,000 IR A

IR fasht @t witq 1,55,500 | daa 20,000

e foshl = wifed 21,050 T (wead, 2015

e oo Fam 10,000 qH 12 WE & ) 6,000

FeR @ae (1-1-2015) 2,000 | fafwr = 2,500

faw wde (1-1-2015) 10,000 | foorr @= 3,000
&R 8,000
A T W@ - @ 2,375
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frfifaa sfiReq wHE o STo= ® -

4

faarw 31—-3 —2014 31—-3—2015
E§ 3

g | T TN Ak 2,905 ?

YR § @l 22,500 31,255

faft= ¥R 15,800 17,900

fafte= oFeR 10,550 13,755

R (T T @ 5%) 10,000 ?

A R (T T @ 15%) 15,000 ?

¥ & R g SER 3400 B WY | 250 FT X 7 125 BT W= g8 | e I
®, 31 9, 2015 X 5% W WAL T T Y | T2550 A i & F T A T
21500 T AT I I e | FRE R W R 6% B |

319/, 2015 ) T T8 = RIU SR G600 - S @ HaR S 3K S8 e e
T T gerad S SR |

Arar
ﬁﬁwmmﬁmwﬁﬂm—mﬁﬁmélw,ﬁﬂm—m%ﬁﬁ,mm

531/3%1wq€ﬁmm%| selfeiag =R ¥ T wie @, - SR @,
A7 @i @l 9 AT SR @ QAR i |

01-04-2014 4
- %9 TERl & T i T W € 4,000
sﬁqmamaﬁwﬁe“m 500
¥ 300
01-04-2014 ¥ 31-03-2015

Weh! ¥ W& W 8,000
W= Ty ¢ (37 fRza 2,000) A H A 500

(32 = ¥ 3500 W & WP e )

R0,
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31-03-2015
g frea (IS T 3w T) ‘ ' 500
M W ANE 4 R @ieh (e oy A1l afea) - 1,200
forter - el & T fasa T W ' iE g 4,600

ﬁﬂm—mwmwmaﬁwﬁmﬁfmwmaﬁﬁ;@

(2)

(b)

Explain the normal loss and abnormal loss with reference to Branch
Accounting. 4)

Vaani Co., Delhi, has a branch at Kolkata. It invoices goods to the branch
at selling Price which is cost plus 33-1/3%. From the following particulars,
prepare Branch Account at invoice price. Show also Branch Debtors Account
and Goods Sent to Branch Account in the books of Vaani Co. Delhi :

Stock on 1st April, 2014 (invoice price) 15,000
Debtors on 1% April, 2014 11,400
Goods invoiced to branch during the year at invoice price 67,000

Sale at branch :

Cash 31,000

Credit 37,400 68400
Cash received from debtors 40,000
Discount allowed to customers 300
Bad debts written off 250

Cheque sent to branch :

Salaries 5,000
Sundry expenses 1,700
Stock on 31st March, 2015 (invoice price) 13,400
©®)

OR
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Nitin & Sons have a branch at Agra to which goods are sent at 25% above cost.
The branch makes both cash and credit sales. Branch expenses are met from
branch cash and the balance money remitted to the head office. All the necessary
accounts are maintained by Head Office under stock and debtors system. From
the particulars given below, you are required to calculate the profit or loss made
by the branch for the year ending 31st March, 2015 :

Rs.

Opening stock at invoice price 25000
Cost price of goods sent to branch 50000
Goods received by branch till 31 st March, 2015 at invoice price 60000
Credit sales for the year _ _ 64000
Branch debtors as on 1st April, 2014 12500
Branch debtors as on 31 st March, 2015 15000
Bad debts and discounts written off : 500
Cash remitted to head office 60000
Branch cash balance as on 1.4.2014 3000
Branch cash balance as on 31.3.2015 2000
Cash remitted by H.O. to branch 3000
Branch stock at close - invoice price 20000
Branch expenses paid by branch 12000
(12)

() TrE AT & g W A afa T M aifa 9 wRe SR |

(@) =i 6t Y AR e © R, qET e ¥ 331/3% g S e
W A A o s 2 1 SeifoiRad =R A Sivin ed W IR W@ R ST |
TR Y- TRAT IR G A AR H WA At @ S o e
TEIR § e |

P10,

(==}
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3
01 33, 2014 T Wi (AT 74) 15,000
01 30, 2014 W IR 11,400
¥ & IR AR A ol Ao R AW AW 67,000
T X e o e ' §
BRI 31,000
JUR 37,400 68,400
R ¥ e : 40,000
Wedl A X TE T 300
T2 @ o 3R 250
TRET Y ek ol TR0
Ao & forg 5,000
faftrr @t & forg 1,700
31 9™, 2015 Wl Aoh Tod R Cih 13,400
Jrerar

fAfo gos o A 3N ¥ U I @ R AT ¥ 25%, SR Mol O el ST S
2 | IR E qA IUR, T AR & AT SO B | IR DA T A AR R G
Aehg A Tovar s 2w srat AR Tue w6 99 S W E |9 e | v
HEE gRI T (e YIS 3ed gfd §R 9aR Sedll Wi @ | Fl foT e =R |, 31 9, 2015
w TG 99 D SR AT I AT B @ UFET G

3
Weleh qed W IS Tieh 25,000
maﬁﬁ%mwmww@ 50,000
31 WH, 2015 9 AT R e qed R A W o 60,000
¥ & N IR o W 64,000
1 3T, 2014 & IRAT SER 12,500
31 A, 2015 @l AT IR 15,000
T2 @ ford o e & W 500
WM ST Sl A AT Aol T 60,000
e A Ahg 1 AW (1-4-2014) 3,000
RaT H AT H AT (31-3-2015) 2,000
YU HETE -1 TRAT i AT Adhs 3,000
R ¥ s ' (S 1) 20,000

AT gR A R T e & @ 12,000
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Saksham Ltd., which depreciates its machinery @ 10% on Diminishing Balance
Method, had on 1** April 2014 Rs. 9,72,000 to the debit of Machinery Account.
During the year 2014-15, the machinery purchased on 1% April, 2012 for
Rs. 80,000 was sold for Rs. 45,000 on 1% October, 2014 and a new machinery
at a cost of Rs. 1,50,000 was purchased and installed on the same date, installation
charges being Rs. 8000. The company wants to change its method of de_preciation
from Diminishing Balance Method to Straight line method with effect from 1st
April, 2012 and adjust the difference in the accounts for the year 2014-15. The
rate of depreciation remains the same as before.

Show the Machinery Account for the year ended 31t March, 2015. (12)
OR
(a) Briefly explain the following :
(i) Deferred Revenue Expenditure

(ii) IFRS (4)

(b) State the importance of Inventory Valuation. Distinguish between periodical
and perpetual systems of inventory valuation. 8)

e forfis STt AT W 10% 3 R A FAT: T AT W G- T @R 2 1 01 30,
2014 ! FWAA @A D TR 39,72,000 F | a§ 2014-15 B KW, 01 0, 2012 H
380,000 ¥ WA TE AT A TR 1 S, 2014 W T45,000 F 3= v W Ton 3@
fost g 1 Wi 31,50,000 Y AW R WAG TE 3R 28,000 WA W €T o} wwar o
TE | R e AT R A - T S I, 01 I, 2012 A TR, TAFT e - T TE
(SLM) ST =iect 2 T fordl off Wb & 3= 1 9 2014 - 15 & @ ¥ gHEie
A TER B | GA-FE@ B R TEA AR R D G AR

31 W€, 2015 A G 9§ & forg wEieR @ e
3rerar
(=) et o b8 ¥ ey
(i) sreafim v =
(i) s~ faia Raféw W (IFRS)

(@) T T o AEd TAA | WRAH A A AT TERA ¥ e
T |

PT.O.

l o
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PART - B

4

- 1. (a) Critically examine the Rule of Gamer vs Murray. %)

(b) A, B and C had the following Balance Sheet as on 31st March, 2015 :

Liabilities Rs. Assets Rs.
Creditors 40,000 Fixed Assets 40,000
Loan from Mrs. A Debtors 24,000
(with a charge on Stock) 15,000 Stock 20,000
Loan from A 10,000 Cash at Bank 1,000 !
Capital Accounts ‘ Loss 30,000 !
A 20,000 *
B 20,000 '
C 10,000 50,000
1,15,000 1,15,000

The firm was dissolved. Stock realised Rs. 10,000 and fixed assets and
debtors realised Rs. 30,000 in all.

The private position of the partners was as under :

Private Private
Estate Liabilities
A 10,000 15,000
B 8,000 6,000
C was able to pay 50 paise in the rupee of what was payable on his own @

account to the partnership. The partners shared profits and losses in the
ratio of 4 : 3 : 3 for A, B and C respectively.

The loss on realisation is to be determined after considering the amount
finally paid to the creditors.

L T

You are required to close the books of the firm by preparing the necessary
ledger accounts. . (15)

OR

(a) Write a short note on Piecemeal Distribution of Cash. ®)
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(b) A, B and C were partners sharing profitg and losses in the ratio of 3 : 2 : 1.
On 31st December, 2014 their Balance Sheet was as follows :

Liabilities Rs. Assets Rs.
Sundry Creditors 30,000 Plant 21,000
A’s Loan 6,000 Debtors 32,000
Bills Payable 5,000 Stock 15,500
Reserve Fund 12,000 Cash at Bank 9,500
Profit and Loss Account 6,000 Fumniture 5,000
Capital Accounts A’s Drawings 4,000
A 20,000 B’s Drawings 1,000
B 15,000 C’s Capital Account 6,000
: 35,000
- . 94,000 94,000

The firm was dissolved on that date. Assets realised as follows :

Stock Rs. 12,200; Debtors Rs. 30,100 and Furniture realised Rs. 4,200.
Plant was taken over by A at Rs. 18,000. A contingent liability for bill
discounted is settled at Rs. 600. Realisation Expenses amounted to Rs. 600.
C is insolvent and only Rs. 1900 could be recovered from his private estate.

Prepare necessary ledger Accounts to close the books of the firm. Apply
Garner vs Murray Rule. (15)

() TR W W A wffen o @ wien Sl |

(@) 3191, 2015 A A, B T C & o - T4 T4 TR AT -

h o A 3 | awt q
AER 40,000 | =g @R 40,000
Mt A A = IR 24,000
(®fw | R i) 15,000 | &= 20,000
A¥ = 10,000 | & Aws 1,000
TR @ B 30,000

A 20,000

B 20,000

G 10,000 50,000

1,15,000 1,15,000

PT.O.
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HH Wl T ER e T | wiE ¥ 210,000 THA T qA1 €S wRiEl ik SRl A
el 330,000 9UA B IR | WRER & AFa Rafy 5@ ywr O -
A 310,000 315,000
B 38,000 36,000

C,mﬁaﬁﬁvm%waﬁaﬁrwwﬁwaﬁﬁaﬂﬁl A,B 9 C 9t
AHER FAM: 4:3:3 D A A B 6 e o |

AR & AW FIee A & 9IE A el W §Y TRaE 1 R Fiw |
AFF A @A T A FA Fl GeIehl Rl o L ST |

Jrerar ;
(%) IwE & gHs-gahs famor W wftr ot forfag | »)

(@) A,B 3R C, F: 3:2:1 & AT A A - B T8 et o1l WEER # | 31 feawew,
2014 ! IAH qAT-TF T8 YER A -

YA 3 | st 4
fafr oM er 30,000 | =i 21,000
A & 6,000 | AR 32,000
37 fafwm faw 5000 | wt® 15,500
Red s 12,000 | d& ¥ Aws 9,500
o IR B @ 6,000 | wERR 5,000
IOl @ A SR JE 4,000
A 20,000 B SRT &R0 1,000
B 15,000 C &l ot @ 6,000 :
35,000 ®
94,000 94,000

FH A A R e qur watodl ¥ 99l 39 YR g -

wWiew ¥12,200; 39GR 330,100 T AR 4,200 | A ¥ = &l 218,000 ¥
foran | v faferr fomr s @ et sTafae daar 2600 F Foer | el &
@ 3600 Y | C Sarferdan 8 -1 991 Iga e qefadl ¥ WF 21900 W
forg I @

FH @ TS S SR & (oY EEE SoR @A SRS | R SHE W ol |
fruiRa Fraw =t @y i

(2200)



